2014 E M T/KERIEREEMER X
(EEAE=2)TRE)

= - THERIEE R
= B 7E Hh = R U EHEL
HER
1[FHEMT [ 4.2
2|t SEEETEIEE 16
JFCDIIH |HEE 17
AT [BE 16
slEgDIh |EREIETEFE 16
6| = |{E%F 4.2
1IN DHEHET [ FTXRE 19
s|EHIIA |HO 14
9|EEET  |FNH 17
10|FHBHET W3 15




2013 E M T/KERIEHEMERE
(EEAE=2)TRE)

s .
E B 5 e | EREE KU m
g HER
1| HEm [HHET 5.9 <01 6.0
2|fiithTH [ IEEREIRIER 0.1 <0.1 0.2
DT [#ER 15 <01 15
DT |BE 27 <01 27
s\lFEh  |[{EEF 3.8 <01 3.9
6| DLERT | FXRE 19 <01 19
7| JUEELLET | AR 6.6 <0.1 6.7
8| MHIIE MO 13 <01 13
o|SE;RET  |F0H 0.8 <0.1 0.9
10|FR AT |[MRHA 16 <0.1 16




2012 E M T/KERIEREEMERER
(EEAE=2)TRE)

s s
& BEH A e | EREE RUm
= & 22
\|FEM AR 21 <0.1 21
2|fiithTH [ IEEREIRIER 19 <01 19
DT [#ER 18 <01 18
ABDNH |BE 15 <0.1 15
5| MO LEHT | FRE 0.4 <0.1 0.5
6| FLEELLET [ AR 4.3 <0.1 4.4
7 EHIE |HO 13 <01 13
s|EHJIET |B 12 <01 12
o|SE;RET  |F0H 13 <01 13
10|FAEAT (MR 17 <0.1 17




2011 EE HT/KERIEREEMERNE
(EEAE=2)TRE)

s s
& BEH A e | EREE RUm
= & 22
\|FEM AR 30. <0.1 30
2|t  |{ERETRIIER 15 <01 15
DT [#ER 15 <01 15
AN OLERT | TR 18 <0.1 18
5| EEJIAT (A0 14 <0.1 14
6| EHJIET | 13 <01 13
7|3ERET  (F0E 17 <0.1 17
s|FHERT W3t 21 <0.1 21




2010 E i T/KERIEHEEMER R
(EEAE=2)TRE)

s s
E B 5 e | EREE RUm
g HER
1| HEm [HHET 26 <01 26
2ftAH  BIIEER 10 <01 10
3| thTH | REIEIER 9.4 <0.1 9.4
st |EEETEER 17 <01 17
sIFED)IH |HES 17 <01 17
lfTD)IIh |EH)IETEFE 3.6 <01 3.6
M DLEH|FE 9.7 <0.1 9.7
8| M DHEHT |5 7.3 <0.1 7.3
oM DSERT | FRE 21 <0.1 21
10| L EELLET |5]4R 10 <01 10
1| H)IE |AO 13 <0.1 13
12| FAEHAT (MR 11 <0.1 11
13| AT [HEME 8.2 <0.1 8.2




